qree yeuS — 1

fawa — wIford (100)
Subject — Maths
Dell — AT
Class — 10™
| — 3 90 qulics — 100
Time — 3 hours M.M. - 100

(1) Seraere” TANT 9 orgt e B

(1) use of calculator is not permitted

(2) U ®. 1 § O WUS T | WUS () § 98 fdbey Ued Wus(d) H Raw Il
B gl qT |@ve (W) ¥ 9 /g g MY 7| URAS W 1 3id Irefed B

(2) Question No. 1 has three parts. In Part (A) multiple choice questions in part
(B) fill in the blanks and in Part(C) Write true/false are given each question
carries 1 mark.

(3) U . 2 ¥ 6 dP I TSI U 2| IAP W 2 3id afed 2|

(3) Question No. 2 to 6 an very short answer type question. Each question carry
2 marks .

(4) U39 % 7 W 10 TP SIS U & | TP U R 3 3fd IrEfed 2|

(4) Question No. 7 to 10 an very short answer type question. Each question carry
3 marks .

(6) UeF & 11 ¥ 14 TH AITRI UH T | UAP U & RS [ddbed T |
TS YT W 4 3fH I7&fed 2 |

(5) Question No. 11 to 14 an short answer type question. Each question has an
internal choice . Each question carry 4 marks .

6) U % 15 F 16 TH LUHSINIT UeH | UAP U9 & MaRd fdwed T
TS Y W 5 i I&fed 2 |

(6) Question No. 11 to 14 an long answer type question. Each question has an
internal choice . Each question carry 5 marks .

(7) Y H 17 F 18 TH USRI UeH | UAP U & MaRd fdwed T
Ud U R 6 3 IfmEfed T |

(5) Question No. 17 to 18 an long answer type question. Each question has an
internal choice . Each question carry 6 marks .




YUs () / Part (A)

g : (1) eI fddhey grax falgy —

Choose and write the currect option

(1) 9 — x? &1 LIH BT —

@) 3,3 @) 3, -3

@) -3, -3 (T) ST | BIg ol
The zeros of 9 — x2 will be

(@ 3,3 (b) 3, -3

c) =3, -3 (d) None of these

(2) T FHIHROT 2x2% +x — 6 = 0 FT fAfdaddx B8R |
(@1) 49 @) —7

(|) 6 (]) —6

Discriminant of Quadratic Equation 2x% + x — 6 = 0 will be
(a) 49 (b) —7

(c) 6 d) -6

(3) a5 (2. —6) forw aqfer # Rerd gF T —

(31) gerH @) facira

(@) gl () =g

Point (2, -6) lies in which quadrant :

(a) First (b) Second

(c) Third (d) Fourth

(4) sinB X cosec® HT A BRI —

(31) 1 (&) —1

(&) 0 () 2

Value of sinf X cosecf will be

(@) 1 (b) -1

(c) 0 d) 2

(5) afe a1 @I gYotie WAL B 1 AHYUT TS BT A9 BN —
(31) 36 T HHI. (@) 216 T HHL

() 6 a¥f | () 200 T L.

If side of a cube 1s 6¢cm. then value of whole surface will be
(a) 36 sq.cm (b) 216 sq.cm
(c) 6 sq.cm (d) 200 sq.cm



gug (4) / Part (B)
ged : (1) Raa &=l &1 gfd sifsg—
Fill in the blanks
(1) S/ <1 Rad FHHRON BT 3MTerd Ufresdl Y@V 8kl § a9 FHaxe e @
............. gl BIdT B |

(1) If the graph of a pair of linear equations in two variables is represented by two

intersecting line then the pair of equations has ................ Solutions.

(2) SMIHR AT ERT YA Afdd ERAT AT HIAT BT U Ugad AT &1 oIl &
LS55 R HEd ¢ |

(2) The Identification number provided by income tax department to a
Society/Organization or company is known as .....................

(3) THRT IS B I DI ... B B |

(3) Corresponding angles of similar polygon are ..............

(4) for=ft FAT=aR S1oft BT naf Ug gIaT 2 |

(4) The nt" terms of an Arithmetic progressionis ....................

(5) g & HTH S ST Lo gl B |

)

(5) The Longest chardin a circleis ................

Eug (¥) / Part (C)

g3 : (1) 9 /39 feray —
Write true or false
(1) 71 fa=g & fcdena (0, 0) B B |
(1
(2) sin (90° — @) &T A9 tand &Il 7 |

The coordinate of origin is (0, 0)

)
)
)
(2) The value of sin(90° — 0) is tan®
(3) <1 faww Hemi & auf &7 AT W FH BT § |
)
)
)
)

(3) The sum of squar of two odd number is always even.

(4) <1 |ET AV g & D R FH BT ARG B! B |

(4) Two equal chards in a circle subtend equal angle at the centre.

(5) Ifc =TS BT TUAT B AIE! AWR WR BT SR O T0FET § &R G Ud T
AT R forar e 2

(5) If the interest is calculated semi annually , then the annual rate should be taken

two times and time should be doubled.
999 : (2) x? — 16 BT [UFAETS DY —
Factories x%2 — 16

g : (3) 7, 3 TAT 21 P AGATUTT S BTG —
Find the fourth proportional of 7 , 3 and 21



9=+

: (4) 95 A (23) @1 B (27) @ WM drell @1 & Hegld=g & MQene d
HITSTY |
Find the coordinate of mid point of line joinning the points A (2,3) and B(2,7)

: (5) M ST DI —
sec70° sin59°
cosec20° cos31°

sec70° sin59°

Find the value of :

cosec20° cos31°

. (6) UM H UTHd WIS P AT A dITSTT —

Find the mean of first ten natural numbers.

L (7) FHIR SO0 24,21,18 ... @ fdbae Ual &1 IqNT 78 T |

How many terms of the arithmetic progression 24,21,18 ...... of sum is 78 ?

: (8) I TH I & AR @I GRMY 88 FH. MR AR 10 FH. | A I BT

I A BT —
If the Circumference of the base of a cylinder is 88 cm. Then find the volume of
the cylinder.

. (9) Rrg PIRTT & faww d=am &1 o fayq S sy 2|

Prove that square of on odd number is an odd number

: (10) TS fAfdy ERT ot wERTT 10x — = = 3 B T T PR —

Find the Roots of quadratic equation 10x — % = 3 by factorization method

(1) T D Hals A DISTY ARG IFHBT AMIAT 550 B FHI. TAT IHDBI ATH 10

LI
Find the height of the cone if its volume is 550 cm’ and its diameter is 10 cm.
3qdr /OR
14 ). 19 drel e el BT YUl G5 T AT S dbIfoiy —

Find the total surface and volume of the hemi sphere of having diameter 14 cm.

: (12) 9 AR @ AR PT S1d HIFTT —

Chj 0—10 10—20 20—30 30—40 40—50
amgfr 4 10 15 8 3
Find the median of the following data
Class 0—10 10—20 20—30 30—40 40—50
Frequency 4 10 15 8 3
a1 /OR
=1 IRUT & 9gdA® ST BIfSTY —
it 0—10 10—20 20—30 30—40 40—50
SUE S 4 5 16 12 3




Find the mode of the following data

Class

0—10

10—20

20—30

30—40

40—50

Frequency

4

5

16

12

3

g : (13) T fa7g ¥ BIx WM drell S9 9el &7 &1 YgUIdl 1d diforg ot fdvg (2,3)
q Y IR Sl € |
Find the slope of the line which passes through the origin and also passes through
the point (2,3) .
a1 /OR

Y 3T R Rerd 5l f9g & FMcens < diforg S f9=53ii (5,-2) 9 (34) |
AR B |

Find the coordinator of the point which is on Y-axis and which is equidistance
from points (5,-2) and (3,4)

ged : (14) I <1 gAwY Sl § 9XAABC &1 &3%d = 16X APQR &7 &13hdl g dl %
BT H ST DITOTY |
If in two similar triangle 9x Area of AABC = 16xAPQR then find the value of %

31rdr1 /OR

g I B U AABIOT ST § BT BT a7 AU T oIl & aii & AN B
SRTER BICT & |
Prove that in a right angle triangle the square of the hypotenuse is equal to the
sum of the square of the other two sides

g3 : (15) 3MRge 7 Udh 4% H 3 I¥ & foIU 250%. URTHIE &I TP SMad! STAT Wl Glel
dl 5% aTiies =TSl Bl <X A S §b g1 febareil X110 U 87 |

Akhil opens a recurring deposit account in a bank for three year and depositing Rs.
250 monthly. Then how much money will be get if the nate of interest is 5% per
annum ?

3qdr /OR
AlET 9 9% H 50000 . 1 A9 & foly AIER ST W | ST 6T | Al =ara @)
R 10% 81 a1 AT 1S Ui ©: A8l a1 QAN [ Sirem 2 ol 9 fabal
IR g BT |
Mohan deposited Rs 50000 for 1 year in a fixed deposit account in bank. If the
rate of interest is 10% annually and interest is compounded every six month ,
then find the how much money will the bank give mohan on maturity




geq : (16) AABC @ URAT g1 &1 T HIfoiy f9H BC = 7 9H. ZB =45° AT AB =
559, 8| W9 & Ug HI faRgy —

Construct a circum circle in a triangle ABC in which BC =7 cm , /B = 45° and
AB = 5.5cm. Write steps of construction also.
31791 /OR

& sl PQR d915d 99 QR = 6 ¥¥1. , PQ = 5¥HI. 3R /PQR = 60° &l |
59 BT & wawd U Brs ABC aigdl R AB = ZPQ A
Drow a triangle PQR in which QR =6 cm , PQ =5 cm, and ZPQR = 60° Drow a
triangle ABC similar to triangle PQR , in which AB = %PQ

3 : (17) THIHROT Bl & HITT

41x — 17y =99
17x — 41y =75
Solve the equations
41x — 17y = 99
17x — 41y =75
31141 /OR

IS a:b::c:d 8 A Rig dIfvw fb —
a’-c? _ ac
b2-d2 ~ bd
If a:b :: c:d then prove that

a’-c?> _ ac
b2-d2 ~ bd

e ¢ (18) AT LA, /B 9 ZC BrSi ABC & 3icd: v & al g @iy &
. (B+C A
Sln(T)=COSE
If ZA, ZB and ZC and the interial angle of AABC then prove that sin (?) =
cos?
2
3ferd1 /OR
1.4 HICR 4T Ush UeTdh Udh HIFIR 9§ 25.6 HICX & g W & | IFd! Al |
MR & RIER BT I8 DI 45° & | HIR DI $HATS A DI |

An observe 1.4 meter tall is 25.6 meter a way from a tower. The angle of

elevation of the top of the tower from his eges is 45° what is the height of the
tower.



ITeel U IH — 11

fawa — wIford (100)
Subject — Maths
Dell — AT
Class — 10™
| — 3 90 qulics — 75
Time — 3 hours M.M. - 75

(1) Seraerer TANT o orge e 8

(1) use of calculator is not permitted

(2) U %. 1 ¥ U WUS T | WUS (@) ¥ 98 fdbed yed Wos(@) H R el
B gl qT w@ve (W) ¥ 9 /3T g MY | URAS W 1 3d Irefed B

(2) Question No. 1 has three parts. In Part (A) multiple choice questions in part
(B) fill in the blanks and in Part(C) Write true/false are given each question
carries 1 mark.

(3) U . 2 ¥ 6 IP I TSI U 2| ISP W 2 3d afed 2|

(3) Question No. 2 to 6 an very short answer type question. Each question carry
2 marks .

(4) T 6 7 W 10 Tb AGITRIT U B | U U WR 3 3 If&fcd o |

(4) Question No. 7 to 10 an very short answer type question. Each question carry
3 marks .

(6) UeF & 11 ¥ 14 TH AITRI UH T | UAP U & RS [ddbed T |
TS YT W 4 3fH I7&fed 2 |

(5) Question No. 11 to 14 an short answer type question. Each question has an
internal choice . Each question carry 4 marks .

6) U % 15 F 16 TH LUHSINIT UeH | UAP U9 & MaRd fdwed T
TS Y W 5 i I&fed 2 |

(6) Question No. 11 to 14 an long answer type question. Each question has an
internal choice . Each question carry 5 marks .

(7) Y H 17 F 18 TH USRI UeH | UAP U & MaRd fdwed B
Ud U R 6 3 IfmEfed T |

(5) Question No. 17 to 18 an long answer type question. Each question has an
internal choice . Each question carry 6 marks .




Gus (31) / Part (A)
7% ¢ (1) 98 fAdwey geaw faRay —
Q. (1) Choose and write the currect option
(1) refge &1 BIvT BT 7 |

(31) 90° @) 30° (|) 60° (g) 180°
Angle of semicircle become
(a) 90° (b) 30° (c) 60° (d) 180°
(2) o FHHRT 3x2 + 2x+ 7 =0 & HaAl BT AN ¢ |
7 -2 7 -2
®) 3 @ @) 3 (@) —
Sum of roots in a quadratic equation 3x% + 2x +7 = 0is
7 -2 7 -2
@) 3 b) © 3 d) —
(3) 98U x2 4 5x + 6 BT YUFAETS & —
@) x+2) (x+1) @) (x+2) (x+4) @) x+) (x+3) &) (x+2) (x+3)
Factor of polynomial x? + 5x + 6 is
@ x+2) x+1) (b)) x+2) (x+4) ) x+1) x+3) () x+2) (x+3)
(4) 1+ tan®45° &1 99 8 —
(37) sin?45° (@) cos?45° (W) sec?45° (@) cosec?45°
Value of 1 + tan?45°is
(a) sin®45° (b) cos?45° (c) sec?45° (d) cosec?45°
(5) v o<y 99 BT ® —
(31) 1 SR | 31 R d& (@) 1 SeITg ¥ 30 S db
() 1 3T & 31 A1F P () 1 93 & 30 U B
A financial year become
(a) 1* January to 31 December (b) 1% July to 30 June
(c) 1* April to 31 Amrch (d) 1 may to 30 April

Wug (4) / Part (B)

g3 : (1) Sfaa ddyg Sifsy

Q. (1) Match the following

() ¥Rat @1 y =x H @7 DI el 8l | (1) 12
(1) Slope of line in the straight line y = x will be
(i) &7 FAART S & &FABal Bl gl FId Yol & aif | (i) 15
& 37U H BT 7 |

(i1) The ratio of the areas of two similar triangles is to the
ratio of their corresponding sides

(iii) 20 3R 10 &1 AR AT B | (iii) A
(ii1) The arithmetic mean of 20 and 10 will be equal

(iv) afe 0=30° 8 dT tan’® BT HF BN (iv) 1




(iv) if ©=30° then the value of tan®0 will be
(v) fopsfl =19 Y MpreNT fador & Txer Bl B

(v) The number of space diagonals of the cuboid is

Wl =

Tug () / Part (C)
g : (1) R =i &1 gfd SHifsg—
Q. (1) Fill in the blanks
(1) I x2=9 B AN X BT AT oo BT |
(1
(2) &1 UM BT AT oo FHEATN T |

If x2 =9 then value of xwillbe ...............

)
)
(2) Comparison between two ratio is saidtobe .....................
(3) o I & MCID o B B |
(3) The coordinate of originis ..............
(4) IO BT AT FHDT oo BT AT B |
(4) Diameter of circle will be double of its ....................
(5) IMacit ST @IAl H TS BT T oo BT 2 |
(5) In recuring deposits calculation of interestis ..................

ged @ (2) 989 2y3+4y?+3y+1 B y+1 F 9N IBR 9NHA UG UYHA S
W |
Find the quotient and remainder on dividing 2y3 +4y2+3y+1 byy +1
g% : (3) IS 20 YKIDI BT oI 783 ®. © dl 2214 . H fbal gxis ey ?
If the cost of 29 books is Rs. 783 then how many books can be purchased in Rs.
2214
ged : (4) 9t fovg a1 95 (2, 0) & d1° B T AT DI |
Find the distance between point (2,0) and origin
ged : (5) HIF A DIty —
sin63°cos27° + cos63°sin27°
Find the value of —
5in63°cos27° + cos63°sin27°
93 : (6) HIEIDT ST HINTT —
25,21,23,18 ,20, 23, 24
Q. (6) Find the median 25, 21 , 23, 18 , 20 , 23 , 24
g9 ¢ (7) V34 1 3R /3 — 1 &7 IR AT ST BT —
Find the arithmetic mean of V3 + 1 and v/3 — 1
999 : (8) UH 35 HHI. HATs dTel IR H 11 llex S 3MAT & | SR BT AT S BHIY |
(1 <t = 1000 &9 ¥4I
11 liter juice is filled in a cylindrical vessal of light 35 cm. Find the diameter of the
jar.
(1 Liter = 1000 Cubic cm.)




2 (0) Rrg BIRIY 1 =T 01 9 i 99 G&A1Rll &1 IRT §HRIT 6 OISl Bl & |

Prove that the sum os them successive ever integers is always multiple of 6.

: (10) 98 fgara FHIaHReT S SIfe f99a a0 (2+V7) a3 (2 —+V7) 2
Find the quadratic equation whose roots are (2 +7 ) and (2—+7)

: (11) =1 AR | ARG A IOET B |

it 0—10 10—20 20—30 30—40 40—50 50—60

SIEIS] 5 8 16 10 7 4
Find the mean from the following table

Class 0—10 10—20 20—30 30—40 40—50 50—60

Frequency 5 8 16 10 7 4

3ferar /OR

1 ARl & 9geld B TUET DI —

it 0—10 10—20 20—30 30—40 40—50 50—60

SIEIS] 6 11 21 23 14 5

Calculate the mode from the following table

Class 0—10 10—20 20—30 30—40 40—50 50—60

Frequency 6 11 21 23 14 5

: (12) &1 Ml & ATIAAT BT AU 64 : 27 & | Sb YOI &FABell Pl AT AT
PR |

The ratio between the valume of two sphere is 64 : 24 then find their ratio between
surface area.

3fqar /OR

AfE UH e BT A 3080 B HHI. R HATS 20 T T A5 doi @ =
oI dsh I8 ST IfoTY |
Find the radius and curved surface of a cylinder whose volume is 3080 cabic cm
and height 20 cm

: (13) <1 T opfd H OP = 13 9L 9T 9 @ a1 5 T4l 2| fog P9 99 W
Wi T8 el W@ PT 9 PS &7 W18 A HIFOTT |
T

p<ﬂo>

S

In the given diagram OP = 13 cm and radius of a circle is 5cm . tangent drown
from the point P find the length of the tangent line PT and PS.

p<COD

S




3171 /OR

I &1 yRd foiRay o g sifoiy —
State and prove the thales Theorem
gedq : (14) Al 11 g3 P(2, -3) 3R Q(x, -7) @ 4/ &1 g 5 2| Al x B A S
Find the value of x, if distance between two points P(2, -3) and Q(x, -7) is 5.
3rerdar /OR

Th IRIR ¥ 5 I8 db SYANT I T S &1 7137 fhalimd 8§ Aol §
IS 2| AW Ud SUINT fhU T TS B HET b 3TeiRg Wi |

BN 1 2 3 4 5
QST 1 AT (T, 1 2 3 4 5
D))

The table below shows the questions of onions consum (in kg) over 5 weaks by a
family. Draw a graph between and quantity of onion consumed

week 1 2 3 4 5
Quentity of onion 1 2 3 4 5
(in Kg)

g : (15) AABC & UR¥d g @ =T difoiy [ BC = 6391, /B =50°3iR £C =
70° =T @ ug |1 forlRay —

Construct a circumscribe is a triangle ABC in which BC = 6 cm , /B = 50° and

ZC =70° Write steps of construction also.
31erdr /OR

T S PQR a8 f5H QR = 6 ¥+, PQ =5 ¥+ T Z/PQR =60° % |
9 el & 9WRY Ud et ABC §91sd s AB = 2/5 PQ.

Draw a triangle PQR in which QR = 6¢cm , PQ = 5 cm and ZPQR = 60° . Draw a
triangle ABC similar to triangle PQR in which AB = 2/5 PQ.

93 : (16) UH Ifdd AT ST W H 4% dlfid &l @ &% H 2 99 & foIU 100000
®. e oRar g a1 uRugaar & g feaa <l ura grf | afe e affe
HAITT Bl 2 |

A person deposited in a fixed deposit schemeat the rate of 4% annually for Rs.
100000 for 2 year Then how much mony will be get on maturity if intrest is
calculated annually.

3qar /OR
3RIA o U db W 300%. UM AIE &I &R W 2 99 & [oly ATaci] ST @Il Sl
IS ST BT TR 5% aTfep 81 AT 2 99 918 9 b=l T urey BRfT |
Akhil deposited Rs. 300 Rs. Per month for 2 year in a recurring deposit account.
If rate of interest is 5% annually then how much money will be get offer 2 years




g9 (17) THIEROT B BIVIY —

sinf sinf
1—-cos 1+cosf
Solve the equations
sin@ sinf

1—cos@ 1+cos®

3rdr /OR

T HAR & MR R Red 5l fig 9 H9R & RER &1 I3+ 317 30° 2 |

AR B AR 30 HeX T TR ST BT 45° BT STl 2 | GHAR P SaTs id
PIFTT |

Angle of elevation of a tower from any point of the base of the tower is 30°.

Moving to wards 30 meter to the tower the angle of elevation be comes 45°. Find
the height of the tower.

g9 : (18) forfl WAR oot @ p d q d r d UGl FT ARTHSA HA: a, b, c & al Mg
R 2(q-T) +2r—p) +(p—q) =0
Q. (18) Sum of p™ , q™, ™ terms of an A.P. are a,b,c respectively then prove that
a b c
S@=n+--p)+ (- =0
3171 /OR

Uﬁwmeﬁ?mwm?ﬂﬂ%%aﬁﬂ@ﬁmaﬁml

: : . 61
The sum of a number and its reciprocal is 20 find the numbers



